
































Bu testlerin her hakkı saklıdır. Hangi amaçla olursa olsun, testlerin tamamının veya bir kısmının “İhtiyaç Yayıncılık”ın yazılı izni ol-
madan kopya edilmesi, fotoğrafının çekilmesi, herhangi bir yolla çoğaltılması, yayımlanması ya da kullanılması yasaktır. Bu yasağa 
uymayanlar, gerekli cezai sorumluluğu ve testlerin hazırlanmasındaki mali külfeti peşinen kabullenmiş sayılır.
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AÇIKLAMA

DİKKAT!

ÇÖZÜMLERLE İLGİLİ AŞAĞIDA VERİLEN UYARILARI MUTLAKA OKUYUNUZ.

1.	 Sınavınız bittiğinde her sorunun çözümünü tek tek okuyunuz.

2.	 Kendi cevaplarınız ile doğru cevapları karşılaştırınız.

3.	 Yanlış cevapladığınız soruların çözümlerini dikkatle okuyunuz.
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1.	 All the nouns used in A,B,C, and D are 
abstract nouns except for ‘cast’ included in 
the option E. Therefore, the correct answer 
is E.

A B C D E

2.	 The pronoun given in option C as “her” 
should be “hers” in terms of grammar rules. 
Therefore, the correct answer is C.

A B C D E

3.	 The sentence given in the option E does 
not contain a structural ambiguity because 
it has only one interpretation. Therefore, 
the correct answer is E.

A B C D E

4.	 The suffix “-er” in the option C is used 
to serve a different purpose because 
“foreigner” can be used to refer to the doer 
of the action. Therefore, the correct answer 
is C.

A B C D E

5.	 ‘beside’ ‘lucky’ and ’idle’ are all two syllable 
words. And ‘adequate’ is a three- syllable 
word but ‘shake’ is a monosyllabic word. 
Therefore, the correct answer is E.

A B C D E

6.	 B, C, D and E options include derived 
words. However, “biggest” is inflected. 
Therefore, the correct answer is A.

A B C D E

7.	 The word that is suitable for the blank 
should have a positive meaning to some 
extent. “discern” meaning “distinguish” or 
“recognise” here will be the correct choice. 
Therefore, the correct answer is B.

A B C D E

8.	 The clauses given in the sentence have a 
parallel and complementary relationship 
in meaning. Therefore, the correct answer 
is D

A B C D E

9.	 ‘transition from the  rationalism  of the 
Georgian period toward  romanticism  and 
mysticism’ will be a true usage. Therefore, 
the correct answer is D.

A B C D E
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10.	 Solution: The sentence given in the root 
is ‘passive’ in structure. And Cleopatra is 
a dead person. Furthermore, ‘infinitive’ 
follows passive structures in the sentences. 
Therefore, the correct answer is E.

A B C D E

11.	 In the option C ‘an apple’ is indicated by the 
specific description ‘just at the top’. Hence, 
it is not ‘any apple’ anymore. Therefore, the 
correct answer is C.

A B C D E

12.	 In the option C the rejected one is Melinda 
and the subject who is aware is another 
person. Therefore, the correct answer is C.

A B C D E

13.	 Colon(:) is generally used before a list or 
a description following a full sentence. 
Therefore, the correct answer is B.

A B C D E

14. - 16. sorular aşağıdaki metne göre 
cevaplanmıştır.

During the Renaissance, especially in 
the sixteenth century, it was customary 
to debate the preeminence of the arts, 
particularly as between painting and 
sculpture (15). The more commonly 
accepted opinion is represented by 
Benvenuto Cellini, who thought that 
sculpture is eight times as great as any 
other art based on drawing, because a 
statue has eight views and they must all 
be equally good. A painting, he said, is 
nothing better than the image of a tree, 
man, or other object (14). In fact, the 
difference between painting and sculpture 
is as great as between a shadow and the 
object casting it. Leonardo, on the other 
hand, thought that painting is superior to 
sculpture because it is more intellectual. 
By this he meant that as a technique it is 
infinitely more subtle in the effects that it 
can produce, and infinitely wider in the 
scope it offers to invention or imagination. 
Michelangelo, when the question was 
referred to him, in his wise and direct 
way said that things which have the same 
end are themselves the same, and that 
therefore there could be no difference 
between painting and sculpture except 
differences due to better judgment and 
harder work (16).

14.	 The more commonly accepted opinion is 
represented by Benvenuto Cellini, who 
thought that sculpture is eight times as 
great as any other art based on drawing, 
because a statue has eight views and they 
must all be equally good. A painting, he 
said, is nothing better than the image of a 
tree, man, or other object

A B C D E

15.	 During the Renaissance, especially in 
the sixteenth century, it was customary 
to debate the preeminence of the arts, 
particularly as between painting and 
sculpture

A B C D E

16.	 Michelangelo, when the question was 
referred to him, in his wise and direct 
way said that things which have the same 
end are themselves the same, and that 
therefore there could be no difference 
between painting and sculpture except 
differences due to better judgment and 
harder work.

A B C D E

17.	 Harry’s ‘Oh, come on. What’s the matter? 
Is it about your grade?’ question shows 
us that Caleb is somehow hesitant in 
revealing the matter. And this hesitance 
is included in the option C: ‘Am I? There’s 
nothing serious’. Therefore, the correct 
answer is C.

A B C D E

18.	 Farah’s question ‘What are they?’ needs 
an explanation in Mike’s answer. And the 
remark told by Farah in her last speech 
‘Repeatedly using the target language will 
enable young learners’ shows us that the 
correct answer is E since it is both related 
to the topic and includes an example 
which serves as an explanation answer for 
Farah’s question. 

A B C D E
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19.	 Pat’s “I didn’t expect it would be. In fact I 
am a bit disappointed” remark shows us 
that Spencer’s speech includes something 
disappointing. Therefore, the correct 
answer is A.

A B C D E

20.	 The correct answer is B.

In language teaching, students “correct
	 1	 2

“responses are rewarded by teachers”
	 2	 3

praise which functions as
	 3	 4

reinforcement of the response.
	 5

Correct responses of the students
	 2

are awarded by teachers acclaim
	 3

and this acts as reinforcement of the answer
	 4	 5

in language teaching.
	 1

A B C D E

21.	 The correct answer is C.

The study of semantics intersects with 
many other fields of inquiry, including 
lexicology, syntax, pragmatics, etymology 
(1) although (2) semantics is a well-defined 
field in its own right (3).

Despite (2) being a well-defined field in its 
own right (3),  semantic studies cooperate 
with most of the other branches of 
research encompassing lexicology, syntax, 
pragmatics, and etymology (1).

A B C D E

22.	 The last sentence ‘It became apparent 
that there was no such thing as the most 
natural way to express a thought, and 
therefore logic could no longer be relied 
upon as a basis for studying the structure 
of language’ is an important clue for the 
solution. It shows us that there should be 
a structure indicating contradiction to the 
sentence ‘This system took as its basic 
premise the assumption that language is a 
direct reflection of thought processes and 
therefore there is a single, most natural 
way to express a thought’. Therefore, the 
correct answer is E.

A B C D E

23.	 In the sentence ‘In his literary work  The 
Republic,  Plato  described a system of 
instruction that he felt would lead to an 
ideal state’, it is emphasized that the 
expression for the blank should include 
the complementary relationship between 
the education and state. Therefore, the 
correct answer is B including the sentence 
‘Philosophy  in  ancient Greece  led to 
questions of educational method entering 
national discourse’.

A B C D E

24.	 All the sentences in the paragraph have 
a problematic point of view towards 
semantics but second sentence involves 
the expression ‘easy to comprehend’ which 
violates the unity and coherence in the 
paragraph. Therefore, the correct answer 
is C.

A B C D E

25.	 The pronoun ‘it’ in the second sentence 
refers to the noun ‘acquisition’ in the first 
sentence. In the fourth sentence ‘in this 
way’ refers to the explanation given in the 
second sentence and in the fifth sentence 
unity is maintained by the reference ‘in this 
informal way’. But in the third sentence 
there is an explanation related to the use 
of language which disrupts the coherence. 
Therefore, the correct answer is C.

A B C D E

26.	 The speaker is the voice or ‘persona’ of a 
poem. Therefore, the correct answer is E.

A B C D E

27.	 A comedy concerned with the intrigues, 
love affairs, and manners of the elegant, 
witty, and sophisticated members of the 
middle and upper classes is called comedy 
of manners. Therefore, the correct answer 
is A.

A B C D E
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28. A metaphor is a figure of speech that 
describes a subject by asserting that it is, 
on some point of comparison, the same 
as another otherwise unrelated object. 
Therefore, the correct answer is C.

A B C D E

29. The expression ‘A second edition followed 
in 1674, changed into twelve books. It is 
claimed by critics to be Milton’s “major 
work” and the work helped to solidify his 
reputation as one of the greatest English 
poets of his time’ shows us that the correct 
answer is C.

A B C D E

30. Brutus is the play’s protagonist because 
the play revolves around Brutus’s actions 
and thoughts. Antony becomes the active 
source of Brutus’s woes. Therefore, the 
correct answer is E.

A B C D E

31. The explanation ‘illogical scenes with 
photographic precision, created strange 
creatures from everyday objects’ shows us 
that the correct answer is E.

This is an example of surrealism in art -The 
Temptation of Saint Anthony- by Salvador 
Dali (1946).

A B C D E

32. Blank verse is poetry written in 
unrhymed iambic pentameter. Therefore, 
the correct answer is C.

A B C D E

33. Arbitrariness is a term given to choices 
and actions subject to individual will, 
judgment or preference, based solely upon 
an individual’s opinion or discretion. It is 
generally there is no ‘natural’ connection 
between a linguistic form and meaning. 
The connection is quite arbitrary. That’s 
why the correct answer is D.

A B C D E

34. Vowels are articulated with an open vocal 
tract in order not to build-up of any air 
pressure at any point above the glottis and 
this contrasts with consonants. Therefore, 
the correct answer C.

A B C D E

35. Except for the option E, all the options 
include closed-class components. 
Therefore, the correct answer is E.

A B C D E

36. The options other than A are related with 
the spesific features of knowledge. But 
linguistic knowledge best subsumes the 
sentence. Therefore, the correct answer 
is A.

A B C D E
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37.	 Like the relationship between ‘cucumber’ 
and “vegetable” the example given in the 
question root is considered as hyponymy. 
Therefore, the correct answer is C

A B C D E

38.	 In the dialogue the child continues to make 
the same mistake even though mother 
corrects the child’s syntax. It shows that 
reinforcement is not a sufficient answer in 
language acquiring process. That’s why 
the correct answer is A.

A B C D E

39.	 Politeness is a culturally defined 
phenomenon and so something considered 
as polite in one culture can be rather rude 
or weird in another cultural context. It is 
not one of Grice’s Maxims. Therefore, the 
correct answer is D.

A B C D E

40.	 In ages between twelve and eighteen 
months, the child is at one-word stage. 
That’s why the correct answer is A.

A B C D E

41.	 Cognitive linguists are interested in the 
relation of language and mind, and they 
do not follow the prevailing tendency to 
explain linguistic patterns by means of 
appeals to structural properties internal to 
and specific to language. Therefore, the 
correct answer is C.

A B C D E

42.	 In dichotic listening, there is a right ear 
advantage for linguistic sounds. Hence, 
linguistic sounds processed in left 
hemisphere and vice versa. Therefore, the 
correct answer is D.

A B C D E

43.	 In the Silent Way, the teacher is to remain 
silent so as to subordinate teaching to 
learning and is to focus student attention; 
provide meaningful practice. Therefore, the 
correct answer is D.

A B C D E

44.	 In the Audio-lingual Method, the 
fundamental principle of the teacher is to 
be an accurate model  for the learners to 
acquire the structural patterns correctly. 
Therefore, the correct answer is C.

A B C D E

45.	 The pronunciation skill of the young 
learners can be reinforced through hearing 
the individual sounds and syllables, and 
repeating them again and again. Tongue 
twisters and chants are the fundamental 
tools for the young learners to make 
headway for the pronunciation. Therefore, 
the correct answer is B.

A B C D E
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46.	 Integrative tests are the ones seeking to 
measure a variety of language skills rather 
than those which test isolated parts of 
the language. Achievement tests are the 
ones designed to evaluate how much of 
the syllabus the learners have learned or 
how much of the objectives of a lesson, 
unit or course have been reached. Internal 
end-of-year tests and external school-
leaving examinations are both examples 
of achievement tests. Selection tests are 
the ones to determine a student to accept 
into a particular school or institution. So as 
to be accepted to a program, one needs 
to have the higher score than the others. 
Discrete tests are the ones aiming to 
supply very specific information about 
learners’ abilities specific skills or specific 
language areas. In other words, they aim 
to measure specific linguistic units such as 
spelling, vocabulary, grammar. Therefore, 
the correct answer is D.

A B C D E

47.	 Skills syllabuses are to be arranged with 
different underlying abilities that are 
included in using a language for purposes 
such as writing, listening, reading or 
speaking. Therefore, the correct answer 
is E.

A B C D E

48.	 In the visual intelligence, maps, diagrams, 
charts, videos, slides, movies, painting, 
drawing, illustrating, visualizing, imaginative 
story-telling are the fundamental 
proponents. In the auditory intelligence, 
singing, composing, imitating, inventing 
song lyrics, improvising and writing jingles 
are the fundamental proponents. Making 
use of puppets and changing the voice 
indicates that the visual and the auditory 
channels are attracted. Therefore, the 
correct answer is C.

A B C D E

49.	 In the Community Language Learning 
Method, cooperation is encouraged, not 
the competition. Therefore, the correct 
answer is D.

A B C D E

50.	 Data analysis is a systematic and 
analytical approach to evaluation, whose 
results reveal the appropriateness, value, 
pros and cons of the material in detail. 
External Analysis is a short overview of 
the cover, introduction and the syllabus. 
Internal Analysis is more elaborated 
analysis regarding presentation of the 
skills, types of materials. General Analysis 
is related to clear layout or print of the 
materials. Specific Analysis is related to the 
attractive, colourful illustration, vocabulary 
and texts relevant to topic appropriate 
for the level. Discourse Analysis is the 
study of how a language actually works 
in real situations. Contrastive Analysis 
is to compare two different languages to 
discover in what ways they are the same, 
similar and different in order to predict 
likely learner errors or explain discovered 
errors. Therefore, the correct answer is B.

A B C D E


